Mid-term 2 – A

Fall 2006
Economics 11

Please answer all three questions.  All graphs must be completely labeled to receive full credit.  You must show any work you did to arrive at your answer.  Good Luck!
1.
The following represents output at Acme Organic Coffees:

Labor (hours)
Quantity   
AP
   
MP    


  (cans)



       0

     0
     



       1

     8



2 18
3 40
4 56
5 64
6 64
Fill in the table, and identify regions I, II, and III.  Given this limited data, where should the firm produce?
Part II – Suppose the only variable input at Acme is labor, which costs $10/hour.  The output of the firm is priced at $6 per unit.  Use the information above to fill in the table below, and find the firm’s profit-maximizing output.

Labor    Quantity   Fixed     Variable    Total    MC     AVC     ATC    Revenue Profits

(hours)    (cans)     Costs        Cost        Cost      

     0
  0
   100
                        1
  8


2
18


3
40


4
56



5
64


6
64
3.
Carol, a local high school student, spends all of her allowance on CD's and movie tickets.  She has a monthly allowance of $40, and pays $10 for each CD, and $5 for movie tickets.  Use the information below to determine how many CD's and movie tickets Carol buys:



Quantity of CD's
Utility

Q of Movie Tickets

Utility


  0


   0


   0


   0



  1


  60


   1


  40



  2


 110


   2


  75



  3


 150


   3


 105



  4


 180


   4


 130



  5


 200


   5


 150



  6


 210


   6


 165


a.
Find the equilibrium quantity of CD's and Movie Tickets bought.


b.
If Jane received $10 extra, where would she spend it?

